Multiplication d'un Monome par Deux Binomes (C)

Simplifiez chaque expression.

1 =50 (8t — T0?) (v — 60?)

0. 9k (—4k + 1)(K° — 5k%)

o

3. 924(72° — 82%)(32 — 6)

| —32%(—62° + 5at)(=bxr — 7)

=3f2(9f% = 9f) (=5 — 5f%)

Ot

6. —3r3(=3r° + Trt)(=Tr — 4)

7 22(=921 4+ 723 (42° + 524

8 23(52° — 62%) (=521 — 427%)

9. =3¢ (—c* — 7¢*)(=7c% - 2¢)

10. 5k3(—3k* — 3K%)(—4k* + 2K?)
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Multiplication d'un Monome par Deux Binomes (C)

Réponses

()

6.

9.

10

Simplifiez chaque expression.

=502 (8t — ) (VP — 60?)

— — 400" + 2750 — 21001

Ok*(—4k + 1) (k* — 5k?)
= —36k" + 189k° — 45K°

9:4(72° — 82%)(32 — 6)
= 189210 — 59427 + 43228

—323(—62° + 52*)(=5x — 7)
— —902" — 512% + 10527

- =3f%(9f7 = 9f) (=57 —5f*)

= 1351 — 135 f7

—3r3(—=3r° + Trt) (—Tr — 4)
— —63r% + 11177 + 847°

2(=92* + 72%)(42° + 52%)
3621 — 17219 4 3527

N

3(52% — 62%)(=bz* — 42°)
—25210 1+ 102Y + 2428

N

—3c*(—c* — 7*) (=7 - 2¢)
= —21¢" — 153¢% — 42¢°

5K (—3k* — 3k%) (—4k* + 2k%)

= 60k + 30k — 30"
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